(& (2) _#E_D]

BHOEERNRISEEZRAEZETEERERER (2AHME)
[£81#]
BEAR EERAR-RESAEAAR - & A B =& A& ~ -
i A B8 -
B S & B = B - = & B = & 1% =.;
F b % I 1 £ B 1 £ FE 1 x gﬁ
I3 8 51 A £ & A = & A = ) =5 =
8 # 0 B # Eny B # 0y
i
E | 130 136 117
A
6
F #
B | 1,194 | 1,042 | 919 466
: 4 B
7,120 5,864 | 6,080 | 5315 | 556 98 88 | 6,659
P
# | 200 106 106
B
e (20#%)
=H
5 0 0
A
i3
B | 130 148 123
A
5
& #
B | 1,177 | 1,001 | 875 390
& B
7,040 5825 | 6,134 | 5386 | 444 57 52 | 6,662
=
# | 200 110 110
pid
1% (21%%)
=
5 4 4
=
A
X BEGEER -3. FRETe—BRBERI BT ANEEIIRERT,
X HEA: 3RAERGIFPESK YO0—/La31-4—2a VR, ASBESHR BYE . SHRESR SN - £MR) TEf,
B - HEAEEERLUND 3 88 (KK 3 7. A% 1) TEHE,
BT RDESR E AT SR TR,
RESNEA : HFAESH S 0—/NLa 2 25— 3 R CROEEE,
[ 7E Bl ]
- A # B AR - & A B =& A& . 5
] g & 3 & & = s & = & & # | B
g b & I 1% £ [ 1% £ FE i | g
E 8 5 A ) = A = = A = z =5 =
8 o s B s s B s s
#
6 B 32 4 4 297
B
440
g (432) . 362 75 59 303 15 6 135 @k
Rl
A | 116 70 66
=
#
5 B 32 1 1 288
B
440
44 .
& 432) " 360 66 57 303 12 11 1 @)
;-4 5 6 6
Rl 7 75

XAZEEMO () X, RAESRONEHEAE ZRVEH,
KRB : HFEREHRFI KT ATTHEE (2K THEE)

HAIAS : REESK TEE.

_1_



(& (2) _#E_D]

SHOEERSTRISEFFRAZEBIRERER (FRA—8)
[£ H#l]
BEER 2 H AZEE | &%E | RB BEER . AZEE | &6%EF | RB
hoEE & ] 200 200 1% 47§ 2 AlTY /08— 40 40
hEHIMEER | & & 30 28| 2(16) ESHRYYa—ay 80 80
t E d = & 200 200 (1) TUAILEE 80 80
hoE R 1 i 40 40 it 200 200
£ £ 40 40 X & =" i & 60 54 6
+ XK 40 40 BxEC R 30 30
EEVRT A 40 40 BETFHI1> 30 22 8
ECHXRARE 35 35 it 120 106 | 14(10)
ESrRIER 35 35 ] ki = & 120 102 | 18(31)
5 230 230 =] ¥ i & 175 175
F I3 & & 160 137 | 23(25) BERY i) b3 40 36| 4(10)
FhHEEHZ| JU-VEBRE 35 28 7 2 AR i & 35 20 15
E F B W 35 31 4 £ E B MW 35 19 16
ESHRRAER 35 25 10 E S & F 35 19 16
EETHAY 35 19 16 WEASVE SRR 60 43 17
E 140 103 | 37(35) it 165 101 | 64(34)
R T & 80 78 2(13) LREREE i & 200 193 7(1)
= H x & 140 130 | 10(19) ERE® BEEDRR 35 23 12
3] £ & ] 100 97 3 I ¥ B 35 21 14
BEES KRR 30 19 11 & it 30 17 13
B E £ K 30 19 1 wae ¥ H 80 58 22
T F I % 40 26 14 it 180 119 | 61(33)
5 200 161 | 39(34) ZEHRE * & 70 40 30
¥ = T & 200 201 £ BB 40 39 1
BH#RE B X R E 40 26 14 AFATRE 40 40
W E F 40 36 4 &t 150 119 | 31(13)
e % H 70 62 8 ’r’r H & & 140 108 32
B 150 124 | 26(41) AEBEREXE| B ¥ 40 25| 15(12)
AFBREER = & 240 241 MBHELL i & 90 91
AMEME & 80 80 ok E ¥ 30 28 2
Fa—/\ L3z —ay 40 40 it 120 119 2(2)
5] ¥ 120 120 A M ® & 200 200 (10)
it 240 240 BH=E e % H 140 97 [ 43(31)
7:’\J: HR| % ] 320 320 BEMKI # ES 40 25 15
NES & & 280 320 H i3 40 39 1
i % 40 E ) 40 28 12
B 320 320 B OE L K 40 38 2
AogHe| & & 240 240 it 160 130 | 30(16)
O :E; ﬁ L B E S BHEES 7120 | 6659 | a6
it 200 202 R 208
XD ERF i & 240 240 XAFHERIEBICKHEBEEED
KT ¥ 1 L1 80 80 XREWMD( DL BEEOREDH,
B £ 40 40
g F 80 80
# £ 40 40 [ % B %l ]
+ PN 80 80 hoE K # i 40 2 38
I % & % 40 40 [ ¥ 40 6 34
G 360 360 &t 80 8| 72(74)
KomE i 3 120 120 AH T % 5 1 40 4 36
E B & F 40 40 g S 40 5 35
T & Q0 B 80 80 &t 80 9| 71(74)
E 240 240 T A & Z OECIE 80(78) 38 40
=R E = - 40 34 6 T E(DH) 80(78) 49 29
e 40 40 T E(mE) 40(38) 3 35
5 80 74 6(3) EIEZS §:)) 40(38) 0 38
X o @ w e ¥ 8 240 240 it 240(232) 90|142(116)
K EBIG i & 240 240 A H = & 40 28| 12(24)
mEIE 2 % S RUBHEHHRES Mo | e | 2w
i’ ] 40 40 EX 41%
it % T % 40 40 XHEGLEIRBICK 5 EEEEZST
EETHAY 40 40 XAZEERO( ) IF. RAESRKROMNEETEANBEZRVH,
it 280 280 KREFMD( )IE.HEEDOREDH,




O FHREGHRAFOKER

(& (2) _#E_D]

EsE 3= =IES
E E(60SmH) 275 & 56 = 0 &
# t S 60sE =) 323 & 59 = 0 &
H F(60EMH) 308 = 60 & 0 &
# H F(0AER) 386 M 60 & 0 =&
# OEGOEES) 270 & 60 &= 0 &
FHREEF R (300 =) 156.1 g 286 & 0 &
BE BESEBOTH A 153.0 &
O HHAFEIREADDHIKR
Ba o
) 0 1~9 |10~19|20~29(30~39|40~49|50~59| 60 |Figs
. 6| 347| 1158 | 1765 | 1799 | 794 71 0
E3ES 275
(0.1) (5.8) (19.5) (29.7) (30.3) (13.4) (1.2) (0.0)
3| 164| 906 | 1357 | 1611 | 1433 | 466 0
& 32.3
(0.1) (2.8) (15.3) (22.9) (27.1) (24.1) (7.9 (0.0)
12| 428 | 823| 1277 1786 | 1222 374 18
Ky 30.8
(0.2) (1.2) (13.9) (21.5) (30.1) (20.6) (6.3) (0.3)
2 48 | 445| 1103 | 1349 | 1478 | 1488 27
ik S 38.6
(0.0) (0.8) (7.5) (18.6) (22.7) (24.9) (25.1) (0.5)
e 2| 455| 1760 | 1336 | 1036 | 913 | 434 4
TR 27.0
(0.0) 1.7 (29.6) (22.5) 17.4) (15.4) (7.3) (0.1)
( YRIZEIE (%)
O ENRERHIADHMIKR
O E, 3
FHRBEAHROAHIKR T
7.0%
6.0% -/.\/)I\‘\_/\\
5.0%
gé&.o% / -\-\\
;;3.0% / .\_
e2.0% // -\
L,ﬂ/// \\_

0.0%
5 @ o O
N
§FEFES

N /@
RS

LR
SR

%, %o |
0\

N 9% ]|
Q.=
-\-1 1
<, O
Yo. %@
oy

%, %% ]
0'\.

2y %2
7. %o
0’\

-

%5, % ]
0\.

25 %o ]
6, o
0\, |
PNRS
0\2 |
45, o
o\{ |
%9, %
0\, |
2, %%
Ay
-
2. %
N~
2, o
AY
2, % ]
0% |
2 B

SRa3™

0.
Y
2%, %

0\9 |
o B
0'\.

A
%,

%, o

20
o 1
%

AR

2.
2, B

0.




